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THEX Sy« T - R - A5 B B B B G = A & 3l R (GBS
T8 HERE
= 1 58, 856, 791
[ RERE N
= 1 5, 000, 186
BB - AR
= 1 5, 000, 186
R & R AHETTHIR
] 100 25,917 2,591, 700
R &R ANE ] 55 N AR i 5|
] 30 8,143 244, 290
TE BAR AR
] 5 225, 848 1, 129, 240
SRV
m 5, 700 45.15 257, 355
A Ma - ER
] 11 70, 691 777, 601
#E - T
= 1 156, 935
s T
= 1 72,785
B AR (A ) e
m3 5 13, 161 65, 805
A A (s e
m3 5 1,396 6, 980
EHRkRET
= 1 37, 055
BabRE(ANH) [/ eI
m3 5 7,411 37, 055
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BIARRET
= 1 47, 095
BIARBRE (A1)
m3 5 9,419 47, 095
HLIE PR E L
= 1 24,977, 281
REARZZ M T
= 1 21, 339, 860
REARZS —MEF ZE 1300X 120 X100
VN 1, 300 13, 744 17, 867, 200
REARZS —MEFH OBE 1300X 120X 100 3HA
2
VN 50 9, 870 493, 500
REARZS —% ] FFU 1300 X 120 X 100
VN 10 30, 347 303, 470
B AL AR A H " 4/} FFU 1500 X 150 X 100
VN 5 38, 455 192, 275
B AL AR A H 4/} FFU 1500 X 300 X 100
VN 5 64, 263 321, 315
B AL AR A H " 4/} FFU 1800 X 150 X 100
VN 15 43,795 656, 925
B AL AR A H " 4/} FFU 2000 X 150 X 100
VN 15 47, 453 711, 795
B AL AR A H 4/} FFU 2300 X 150 X 100
VN 15 52, 892 793, 380
BT
= 1 361, 890
SRR 15kg/m HAfE 10m/A FHa &
m 20 12, 063 241, 260
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PSR A M 15kg/m Bift 10m/A A
m 10 12, 063 120, 630
IR A T
= 1 434, 490
ISR A 4 N2 V=l 15kg/mv-VH AR XK
Fh o
Bi) 1 116, 582 116, 582
ISR A 4 B AVMERR 15kg/my—VvH A4 T
A
Bi) 1 317, 908 317, 908
DA T
= 1 815, 091
Bk AT HA HofE
H 1 815, 091 815, 091
JERFEIE T
= 1 2, 025, 950
HIRA T BAREE A 30~40mm
m3 50 31, 237 1, 561, 850
TE AR ZE [H] 6D 11, 6m
m 100 4, 641 464, 100
HIIE it % T
= 1 2,799, 623
WL M R e B
= 1 2,799, 623
WA - i
1 3 652, 527 1, 957, 581
HENR A > N iRkiE - s
& pr 38 22,159 842, 042
o5 3 A L
= 1 10, 956, 214
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THEX Sy« T - R - A5 B B B B G = A & # (GRS
5 1EAff T
= 1 2,022,513
B o — 7 LA ¢ 16 G/0 (A &)
m 10 1,630 16, 300
o5 R A R SRR AT ABAT, BEAT
i 1 5, 394 5, 394
95 38 Ao A SRR AZ CHAT
i 1 7,353 7, 353
o5 3 Al T - i
m 1, 844 755. 8 1, 393, 695
TH S B45 FHEHE - il
S
m 32. 14, 555 468, 671
KRR FHERE -k
m 8. 15, 069 131, 100
A B
= 1 8,933, 701
YA B A R [ - = 7 = AR 1. 2k~1. 21k
m 10 18,135 181, 350
WA WIS v > 7 VEUS
m2 360 550. 6 198, 216
WA WAL v > 7 VESE
m2 360 596. 9 214, 884
oA WA SRR S | i
%N 247 10, 451 2,581, 397
P& A WA SRR R
%N 247 8, 386 2,071, 342
S EA#Er Y MNRE- L | H=4. 3m
m 202 10, 333 2, 087, 266
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THEX Sy« T - R - A5 B B B B G = A H R (GBS
T8 50 ¥ A B e A 1 H3. 3 X W6. Om
m 66 16, 157 1, 066, 362
18 5 ¥ A B A = H3. 3 X W6. Om
m 66 8,074 532, 884
TR L
= 1 711, 535
N T
= 1 711, 535
INURERGR [ -
H 187 3, 805 711, 535
WA B iR L
= 1 2,738, 248
TG FTHE R BE T
= 1 1, 462, 267
Fa7K A B
T 4 63, 314 253, 256
EF LR E
T 4 37, 644 150, 576
B ER 51 AL
T 4 35, 696 142, 784
H LR R A
T 4 5,932 23,728
B LA
=] 1 891, 923 891, 923
WL R R B
= 1 1,275, 981
AV 71k BERD
m3 0.5 143, 775 71, 887
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T - FRE GIHLE )
T 2 252, 645 505, 290
T - 5RE (1HFE RS )
T 1 251, 459 251, 459
R E -
T 1 229, 012 229, 012
FI A OB HELR RN B AR B - il
S
T 1 218, 333 218, 333
BRE T
= 1 11, 106, 419
PHERRE - BRE
= 1 11, 106, 419
TEHERR D
m2 15, 300 44. 45 680, 085
SN AT
m2 57, 500 164.8 9, 476, 000
i A WAt
m2 72, 600 13.09 950, 334
% T
= 1 410, 350
WRE T
= 1 410, 350
HSGNERT (k)
(53] 10 15, 939 159, 390
BUSARE (N )
AH 10 25, 096 250, 960
[EEE AR
= 1 58, 856, 791

-6 - Etxzim  Aukei )75 R




Bl =%

THEX Sy« T - R - A5 B B B B G = A & H R (GBS
B ST
= 1 16, 386, 999
B STl
= 1 10, 250, 329
TRt
= 1 7, 358, 600
FIIH LR B
= 1 6, 940, 920
WAERE
= 1 417, 680
HTE
= 1 665, 877
KA BB R TR R
= 1 665, 877
e
= 1 1,577,181
PRARABEFT
= 1 1,577,181
BUGERRYCEE (K5 1)
= 1 648, 671
HimEE (FE L)
= 1 6, 136, 670
Wi
= 1 75, 243, 790
B E
= 1 32,218, 012
B 5]
= 1 107, 461, 802
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— R R

= 1 18, 228, 198

T HAlik
= 1 125, 690, 000

THE B 2 %8
= 1 12, 569, 000

THEEE
= 1 138, 259, 000
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